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QUESTION 1

Given:

public class Product {
public doubls applyDiscount{doubls prica) {
assert (price > 0); // line nl
return price * 0.50;

}
public static void main(String[] args) {
Product p = new Prntﬂ_{lct{} i
double newPrice =
p.applyDiscount (Double.parsebDouble (args(0]) )
System.out.println ("New Price: " + newPrice);
}

}
and the command: java Product 0 What is the result?
A. An AssertionError is thrown.
B. A compilation error occurs at line nl.
C. New Price: 0.0
D. A NumberFormatException is thrown at run time.

Correct Answer: C

QUESTION 2

Given: What is the result?
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interface Interfacel |
public default void sayHi () {
System.out.println("Hi Interface-1"):
}
}

interface Interface2 |
public default woid sayHi({) {
System.out.println{"Hi Interface-2");
}

}
public class MyClass implements Interfacel, Interface? {
public static void main(String[] args) {
Interfacel ob] = new MyClass():
obj.sayHi():
}
public wvoid sayHi() {
System.out.println("Hi MyClass™);
}
}

A. Hi Interface-2

B. A compilation error occurs.
C. Hi Interface-1

D. Hi MyClass

Correct Answer: D

QUESTION 3

Given: What is the result?
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public class 3trMan {
public static void doStuff (String s) {

try
if (8 = mull) {
throw new NullPointerException();

}
} finally {
System.out.printIn(“-£finally-*);

}

Syatem.out.printIn(“—doStuff-"};
}
public static wvoid main (String[] args) {
try |
doStuff (null) ;
} catch (NullPointerException npe) {

System.cut.printIn(“-catch-");

A. —catch-finally-dostuff-
B. —catch-

C. —finally-catch-

D. —finally -dostuff-catch-

Correct Answer: C
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Your Code

1~ public class StrMan {

2" public static void doStuff(String s) {
3 try {

4 - if (5 == null) {

5 throw new NullPointerException();
6 }

7= } finally {

g System.out.println(“-finally-");
9 }

12 System.out.println{”-doStuff-");

11 }

12 - public static void main (String[] args) {
13 - try {

14 doStufflnull);

15 - } cotch (NullPointerException npe) {
16 System.out.printlnl”-catch-");

17 }

18 I

19 }

CommandLine Arguments ...

Stdin Inputs...

LA §Lm B. 22 sec(s), Memory S5

=finally-
-catch-

QUESTION 4

Given the code fragment:

UnaryOperator uol = s -> s*2; line nl1

List loanValues = Arrays.asList(1000.0, 2000.0);

loanValues.stream()
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filter(lv -> Iv >= 1500)

.map(lv -> uol.apply(lv))

forEach(s -> System.out.print(s + " "));
What is the result?

A. 4000.0

B. 4000

C. A compilation error occurs at line nl.
D. A compilation error occurs at line n2.

Correct Answer: D

QUESTION 5

What is true about the java.sql.Statement interface?

A. It provides a session with the database.

B. It is used to get an instance of a Connection object by using JDBC drivers.
C. It provides a cursor to fetch the resulting data.

D. It provides a class for executing SQL statements and returning the results.
Correct Answer: D

Reference: https://docs.oracle.com/cd/E13222_01/wls/docs45/classdocs/java.sql.Statement.html
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